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e p.114, right hand side of Eq (6.38): Remove the minus sign so that the
displayed equation reads as

87TGN
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p (6.38)

e p.137, right hand side of Eq.(7.84): Remove last part of the equation so
that the displayed equation reads as

* 2
cts (r,mo) = % +7*1n <7’> . (7.84)

To

e p.137, Eq.(7.85) as well as the sentence above this equation:

Modify last part of the sentence and the displayed equation so that they
read as

"Thus, when the distance from the spherical gravitational source M to
the closest point rg is much smaller than either of the distances to A or
to B, the total time delay for a light pulse traveling round trip between
A and B, obtained by using (7.72,), (7.73) and (7.84), is:

Ats = 2[ts(ra,ro) +ts (rB,70)]
- A0, (fm) ). (7.85)
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e p.238, one line below subsection heading "A as a modification of the
geometry side": Remove the minus sign in front of the expression 8¢~ 4Gy
so that the inline equation reads as " k = 8mc *GN.”

e p.238, left hand side of Eq (11.1): Change the minus sign to a plus sign
in front of the Greek symbol Lambda so that the displayed equation reads
as

G +Aguy = T (11.1)

e p.239, middle part of the first displayed equation on this page (no equation
number): Insert a minus sign in front of the Greek symbol Lambda so that
the displayed equation reads as

G =—Ag = KTA

pv

e p.323, right hand side of Eq (14.21): Insert a minus sign in front of the

factor of % so that the displayed equation reads as

1
R;Ll/OéB = _5 (auaagvﬁ - 31/5&9#5 + ayagg,m — 3uaggm) . (1421)



p.323, right hand side of Eq (14.22): Insert a minus sign in front of the

factor of % so that the displayed equation reads as
g ij
Roo = g" Riojo = _g7 (0:95900 — 900;gi0 + 0o0ogij — 0iOogo;) - (14.22)

p-323, right hand side of Eq (14.23): Insert a minus sign in front of the
factor of % so that the displayed equation reads as

1
Roo = —ivzgoo' (14.23)

p-323, left hand side of the last equation at the bottom of the page:
Remove the minus sign in front of the expression %VZ (1 + 2%) so that
the displayed equation reads as

1, d 1
§V (1—}—2(}2) = —kpc’,
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p.324, right hand side of Eq.(14.24): Remove the minus sign so that the
displayed equation reads as

1
Vi = 5/{;}04. (14.24)

p.324, right hand side of Eq.(14.25): Remove the minus sign so that the
displayed equation reads as

87TGN
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; (14.25)

p.324, right hand side of Eq.(14.26): Remove the minus sign so that the
displayed equation reads as

87TGN
— Ty, (14.26)

1
Ruu - iRg,uz/ = c

p.324, right hand side of Eq.(14.27): Remove the minus sign so that the
displayed equation reads as

87TGN 1
Ry ==~ (T,“, - 2Tg,w) : (14.27)

p-324, sidenote 3: Change the last minus sign to a plus sign in (++ —)
as well as inserting a phrase "to [S2] as well as" after the word "related"
so that the side note reads as




"3Beware of various sign conventions [S] = +1 used in the literature:

n,uy = [Sl] X diag(fla ]-a 13 1)7
Rl)faﬁ = [82} X (aarliﬁ - 8BFI)\L0¢7
+F5arg\ﬂ - FIP/L,BFK&)
8rG
Gl“’ = [53] X CTT/“,.

Thus our convention is [S1,52,53] = (++ +). The sign in the Einstein
equation [S3] is related to [S2] as well as to the sign convention in the
definition of the Ricci tensor Ry, = Rj},,." (To copy editor: please make
sure that the square brackets are not omitted.)

p-333, right hand side of inline equation in item 1, three lines above
Eq.(14.68): Remove the minus sign so that the line reads as

"1. The Goo = 87Gnp/c? equation can then be written (again after a"

p-333, right hand side of inline equation in item 2, two lines above Eq.(14.69):
Remove the minus sign so that the line reads as

"2. From the G;; = 8mGnpgi;/c* equation, we have the second"

p-333, the right hand side of the inline equation just above Eq.(14.70):
Remove the minus sign so that the inline equation reads as "(with xk =

87TGN/C4)"

p-333, left hand side of Eq.(14.70): Change the middle minus sign to plus sign
so that the equation reads as

G+ Aguy = K1, (14.70)

p-334, middle of Eq.(14.71): Change the middle plus sign to a minus sign
so that the displayed equation reads as

G = 6T — 5 Agu) = 6(T + T2, (14.71)

p.334, one line below Eq.(14.71): Insert a minus sign in front of k™' Ag,,
on the right hand side of the inline equation so that the line reads as
"where Té\y = —r"1Ag,, can be called the “vacuum energy tensor.”

p.334, in the middle of Eq.(14.72): Insert a minus sign in front of A/ so
that the displayed equation reads as

A/-1 0 pAC? 0 )
TA = = = (A . 14.72
w K ( 0 g > < 0 pagij ( )




p.334, in the middle of Eq.(14.73): Remove a minus sign in front of A/xc?
so that the displayed equation reads as

A e
ke2  87GN’

pp = (14.73)

p-339, right hand side of Eq.(15.10): Remove a minus sign so that the
displayed equation reads as

8GN 10)

GG = 9. (15.10)

C

p-348, right hand side of second equation from top (no equation number):
Remove the minus sign so that the displayed equation reads as

1 8GN
b b) _
RY) — inwm ) = v

p.348, right hand side of Eq.(15.40): Insert a minus sign so that the dis-
played equation reads as

ct 1
t;w -7 Gn <Ruu 277MVR ) . (1540)

p.348, right hand side of Eq.(15.41): Insert a minus sign so that the dis-
played equation reads as

=y () - g (m®)] s

p-349, right hand side of the second set of displayed equation in Eq.(15.47):
Insert a minus sign so that the displayed equations read as

1 - 2
RY =R =0 and R =R =3 (8oh+) (15.47)

p-371, answer key #9 to Review Questions of Chapter 14:

Change the minus sign to a plus sign in the inline expressionAg ., and
change the plus sign to a minus sign in displayed equation (no equation
number) so that #9 answer key reads as

" 9. Moving the +Ag,, term to the source side of the equation, we get
Guv = k(T — m_lAgW) = k(T + T;fl,).

Thus, even in the absence of matter/energy source 7}, = 0 (i.e., a vac-
uum), space can still be curved by the A term."

p-417, 14th line from the top: Remove the minus sign so the line reads as

K 6.3 gravity strength (87Gn/c?)




